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Write the equation of a sine function that has the given characteristics.
10) Amplitude: 5
Period:m

Phase Shift: —%

Solve the problem.
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11} The following data represents the average percent of possible sunshine for a certain city in -~ 11)

Indiana.
Average Percent of
Month, x Possible Sunshine
January, 1 46
February, 2 51
March, 3 ' 55
April, 4 60
May, 5 68
June, 6 73
July, 7 75
August, § 74
September, 9 68
Qctober, 10 62
November, 11 41
December, 12 34

Draw a scatter diagram of the data for one periad. Find the sinusoidal function of the form
y = A sin (wx - ¢) + B that fits the data. Draw the sinusvidal function on the scatter
diagram. Use a graphing utility to find the sinusoidal function of best fit. Draw the

sinusoidal function of best fiton the scatter diagram.
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12) At a certain port, the height of a tide at any time during the day is given by

h = 6.4 sin|—t
6
Here, his the height in feet above or below a central liné and tis the hour of the day with t
= 0 corresponding to midnight.
What is the amplitude? What is the period? -
Graph hover two periods beginning at t = ().
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13) y =-3 cos(x - x)

14) y= X - ./ A .
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~ Answer Key
Testname: PC REVIEW 5.4-5.6
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12) amplitude = 6.4, period = 12

h =64 sin|=
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